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Part A: Answer any four questions. Answer to each question should not exceed 100 words. 

Each carries two weightage. 

1. What is Juvenile Justice? 

2. Comment on Social legislation as an instrument for Social change. 

3. Explain the salient features of  Indian Constitution. 

4. Discuss the concept of Human rights. 

5. What do you mean by advocacy in Social Work? 

6. Write a note on atrocities against women as per IPC. 

7. What are the legal provisions of PWD Act? 

(4 × 2 = 8 weightage) 

Part B: Answer any four questions. Answer to each question should not exceed 300 words. 

Each carries three weightage. 

8. Explain the legal system in India. 

9. Discuss the salient features of Legal Services Authorities Act 1987. 

10. Explain the features of maintenance and welfare of parents senior citizens Act 2007.  

11. Discuss the procedure of adoption. 

12. Explain the nature and scope of Public interest litigation. 

13. Sketch the legislative measures designed to combat and contain untouchability. 

14. Define Child sexual abuse based on POCSO Act. 

(4 × 3 = 12 weightage) 

 

(P.T.O.) 



Part C: Answer any two questions. Answer to a question is limited to 800 words. Each 

carries five weightage. 

15. Social workers have a major role in implementing Social legislation. Comment. 

16. Critically evaluate role and functions of statutory mechanism for enforcement of Human 

rights in India. 

17. What is social security legislation? Explain the features of any two social security 

legislation. 

18. Domestic violence has increased during this pandemic situation- Substantiate your answer. 

   

(2 × 5 = 10 weightage) 


